<C3> FUNCTIONS

Answers - Worksheet H

1 a 3+ln(x+2)=>3
In(x+2)=0
x+22>1
x=2-1
sok=-1

b y=3+In(x+2)
swap x=3+1In(y+2)

y+2=¢""

y=¢" -2

f'x)=¢"’-2, xeR, x>3

¢ 3+ln(x+2)=4+In(x-1)
In(x+2)—In(x—-1)=1

x+2 _
x—1
x+t2=e(x-1)
x(e—1)=e+2
_ e+2

e-1

3
T 3

342 3+2x

30 a fyW=1()=

x _ 2x

x+2 _E
x(1 —x)=2x(x+2)
3 +3x=0
3x(x+1)=0
x=-1,0

2 70,9
f U
(~6,0) |0 (6,0) x
b y A
(0,0) -
o X
c y A
(0, 8)
ol 1,00 x

a f)=@x-17-1-9=x-1>-10

for £ ' to exist, f must be one-one

. min value of k=1
b f'x)=4 = x=1(4)
L x=16—-8-9=-1

c yA

v

o X

d *-2x-9=6

¥-2x—-15=0
(x+3)(x-5)=0
x=>21 . x=5
(X -2x-9)=6
¥ =2x—-3=0
x+DHx-3)=0
x=21 . x=3
wx=3,5
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a f(1)=2-3=-1 6 a f(ln9)=f2In3)=e"-2=3-2=1
ff(1)=f(-1)=2+3=5 b f(x)>-2
b y=2-3> swap x=2-°> ¢ y=e* -2  swap x=e” -2
x y
%=2—x sy=In(x+2)
y= 3 y=21In(x+2)
2—x
f—l(x)zz3 ,xeR, x#2 f')=2In(x+2), xe R, x>-2
—X
¢ gflx)=1 = (2—3)2=1 d gf(x)z(e%x—2)2+4(e%x—2)
X
2-2 =41 =¢ = det +4+ 46 -8
X
2=13 of(x) = ¢ — 4
X
x=1,3 e ¢—4+1=0
e'=3
x=In3
a each value of f(x) corresponds 8 a f(x)= StQx=3) . 2x#2
(x+DH(2x-3) (x+DH(2x-3)
to a unique value of x =_2xth) 2
(x+D(2x-3) 2x-3

‘ b f(2)=2
.. range: 0 <f(x)<2

i y
W s >
0, 1) ¢ y=o—3 swapx 253

(-3,0) O x 2y-3=2
X
ii v 4 fl)=1+2, xeR, 0<x<2
X
_ 2 _ 2(x-2) _ 2x-4
\ R d fg(x) Z(i) -3 2-3(x-2) 8—3x
1,0\ |0 T x L4,

8—3x 3
6x—12=16—6x

0, -3)I N =1
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